	MODULE: 16
	LESSON: 3
	BOX PLOTS
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The interquartile range (IQR) is the difference between the upper and lower quartile.
	88 – 76 = 12
The range is the difference between the greatest number and the lowest number in the data set.
	90 – 70 = 20
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A box plot is a display that shows how the values in a data set are distributed,
or spread out. To make a box plot, first find five values for the data set:

« theleast value

« the lower quartile — the median of the lower half of the data
+ the median

« the upper quartile — the median of the upper half of the data
+ the greatest value
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Here are the scores Ed received on 9 quizzes: 76, 80,

, 89, 90, 70, 86,

87,76, 80.

Step 1: List the scores in order from least to
greatest.

Step 2: Identify the least and greatest values.

Step 3: Identify the median.
If there is an odd number of values, the
median is the middle value.
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Step 4: Identify the lower quartile and upper

quartile. If there is an even number of values above or

below the median, the lower or upper quartile
is the average of the two middle values.

Step 5: Draw a number line that includes the values in the given data.

e

68 70 72 74 76 78 80 82 84 86 88 90 92

Step 6: Place dots above the number lines at each value you identified in
Steps 2—4. Draw a box starting at the lower quartile and ending at

the upper quartile. Mark the median, too.

68 70 72 74 76 78 80 82 84 86 88 90 9:





